La arepa venezolana

Comprensión de lectura

La respuesta en NEGRITA es la correcta
OPCIONES

	1
	a) cualquiera
	b) cualquier
	c) alguna

	2
	a) plantaron
	b) plantarán
	c) habrían plantado

	3
	a) lo
	b) le
	c) la

	4
	a) luego
	b) durante
	c) pronto

	5
	a) utiliza
	b) utilizan
	c) utilizamos

	6
	a) debemos
	b) necesitamos
	c) tenemos

	7
	a) le
	b) las
	c) se

	8
	a) pueden
	b) puedan
	c) podrán

	9
	a) lo
	b) la
	c) le

	10
	a) que
	b) de
	c) en

	11
	a) diferentes
	b) desiguales
	c) algunas

	12
	a) tampoco
	b) incluso
	c) también

	13
	a) acostumbran
	b) frecuentan
	c) suelen

	14
	a) ocurre
	b) ocurra
	c) ocurrirá

	15
	a) que
	b) cual
	c) quien

	16
	a) hay
	b) hubo
	c) haya

	17
	a) igual
	b) similar
	c) misma

	18
	a) como
	b) que
	c) cuales

	19
	a) por
	b) a
	c) para

	20
	a) forma
	b) manera
	c) modo


